
SAP ABAP table JGTZUST {IS-M/SD: Carrier}

JGTZUST

MANDT [CLNT (3)]

ZUSTELLER [CHAR (10)]

WAERS [CUKY (5)]

KURST [CHAR (4)]

ZUSTTYP [CHAR (1)]

JSTATUS [CHAR (2)]

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 JGTZUST-ZUSTELLER = JGTGPNR-GPNR 
{0,1}

1

T000

MANDT [CLNT (3)] JGTZUST-MANDT = T000-MANDT 0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 JGTZUST-WAERS = TCURC-WAERS 
0..N

{0,1}

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 JGTZUST-KURST = TCURV-KURST 

0..N

1

TJG35

MANDT [CLNT (3)]

JSTATUS [CHAR (2)]

 JGTZUST-JSTATUS = TJG35-JSTATUS 

0..N

{0,1}

TJG81

MANDT [CLNT (3)]

JZUSTTYP [CHAR (1)]

 JGTZUST-ZUSTTYP = TJG81-JZUSTTYP 

0..N

0..N


